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QID : 1 - In the following question, select the related word pair from the given alternatives.

Red : Colour::?:?

TAFAfTEd woat & feT ¢ fashed] & O HefOd Ase 7o &Y AT

Options:

1) Sun: Heat
&« T

2) Earth : Planet
gy : g

3) Land : Solid
qH o

4) Water : Drink
Stef @ dier
Correct Answer: Earth : Planet
gt : Ig

QID : 2 - In the following question, select the related word pair from the given alternatives.
Square:Four::?:?

TAFAfTEd woat & feT I1C fashed] & O Hefed Ase 7o &Y AT

qA:gR::?:7?

Options:

1) Rectangle : Five

3T ;O

2) Hexagon : Seven

AR CHRIC

3) Rhombus : Six

IS : BE

4) Triangle : Three

Correct Answer: Triangle : Three

QID : 3 - In the following question, select the related word from the given alternatives.

Forest : Trees : : Book : ?
AT weat # 4T 970 fashedl # & Taferd orse 1 Iiav|

a:r:qﬂ::g?aa?:?
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Options:
1) Pages
I3

2) Bind
Sreg

3) Writer
erec

4) Pen
helH

Correct Answer: Pages
gss

4

QID : 4 - In the following question, select the related letters from the given alternatives.

TRAP : YWFU : : FROG : ?

AT 9ot # fev a1v fashout # & TR 3R H1 YA
TRAP : YWFU : : FROG : ?

Options:

1) KHLG

2) KWTL

3) WKLH

4) FGHL

Correct Answer: KWTL

QID : 5 - In the following question, select the related letters from the given alternatives.

FAN:MZU::LIP:?
AT weat # 4T 97 fashedt 7 & Faferd 3eRT & ghv|

FAN:MZU::LIP:?
Options:

1) FGA

2) KRO

3) ANP

4) TSQ

Correct Answer: KRO

QID : 6 - In the following question, select the related letters from the given alternatives.

AM:FR::LQ:?
AFEATATAT 9ot # fev aTv fashout # & TR 37&RT H YT

AM:FR::LQ:?
Options:
1) HQ

2) NP
3) QV

4) LS

Correct Answer: QV

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 7 - In the following question, select the related number from the given alternatives.

46:24::54:?
AT weat # 4T 910 fasheut A & Feferd dEdm I giav|

46:24::54:?
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Options:
1) 30

2) 24
3) 20
4) 36

Correct Answer: 20

QID : 8 - In the following question, select the related number from the given alternatives.

11:24::23:?

TFAT T woaf # U 91¢ fasheut 7 & Fefd FEdm i giav|
11:24::23:?

Options:

1) 42

2) 36

3) 54

4) 58

Correct Answer: 36

QID : 9 - In the following question, select the related number from the given alternatives.

5:15::7:?

AT woal & T 71C fashed] & O Hafed F1 A giv|
5:15::7:?

Options:

1) 28

2) 21

3) 37

4) 25

Correct Answer: 21

QID : 10 - In the following question, select the odd word pair from the given alternatives.

TFATe T woel # 18U 970 fashedl 7 & fawe eree g9 &1 AT
Options:

1) Pen — Write

ForA — forge

2) Ball - Play

g — Wt

3) Food - Eat

ST — TTAT

4) Pencil - Stationery

YR — oiEeT aHar

Correct Answer: Pencil - Stationery

GRyer — oraet ey
QID : 11 - In the following question, select the odd word from the given alternatives.

Tt weat # 4T 91 fashedt # & fawH oo &1 gAw|
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Options:
1) Road
Hseh

2) Truck
<h

3) Car
Cary

4) Scooter
FheX

Correct Answer: Road
RIEED

QID : 12 - In the following question, select the odd word from the given alternatives.

Trsfe e woaf # U 91¢ fashedt 7 & fawa ereg & AT

Options:
1) Rice
grdel

2) Wheat

2? Maize
Haranl
4) Crop
el

Correct Answer: Crop
wdel

QID : 13 - In the following question, select the odd letters from the given alternatives.

TFATe e weaf # U 91¢ fashedt 7 & fawa 3ani w1 9w
Options:
1) GIM
2) HKN
3) MPS
4) NQU

Correct Answer: NQU

QID : 14 - In the following question, select the odd letters from the given alternatives.

TerAfaTed weat & few 710 fashed] & & fawa 3&RT I v

Options:
1) LQVA

2) AFKQ
3) CHMR

4) MRWB

Correct Answer: AFKQ

QID : 15 - In the following question, select the odd letters from the given alternatives.

TFAte e weaf # U 91¢ fashedt 7 & faws 3ani w1 9w
Options:
1) VRNJ
2) CYUQ
3) KGCX

4) SOKG

Correct Answer: KGCX
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QID : 16 - In the following question, select the odd number from the given alternatives.

Trsfe e ueaf # U 970 fashedt 7 & fawer dear i giav|
Options:

1) 2-12

2) 5-28

3) 4-24

4) 3-18

Correct Answer: 5 - 28

QID : 17 - In the following question, select the odd number from the given alternatives.

TFafaf@a weat 7 U 710 e # & fawe dear r giav)
Options:

1) 11-13

2) 13-17

3) 17-19

4) 11-15

Correct Answer: 11 - 15

QID : 18 - In the following question, select the odd number pair from the given alternatives.

TFAte e weat # 4T 91 fashedt & & faws Hear 39a &1 giv|
Options:
1) 4-12

2) 5-15
3) 6-18
4) 9-29

Correct Answer: 9 — 29

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series
2, Singing
3. Secure
4, Sickle
5. Secured

e 2real T Qregehier & 37Te alel hl & AR ford |

1. Series
2, Singing
3. Secure
4, Sickle
5. Secured
Options:
1) 35142
2) 53142
3) 35124
4) 53124

Correct Answer: 35142
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QID : 20 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama

TRrAfald ereal @1 ereaehier & 3Te aTel il & AR ford |

1. Drive

2. Drown
3. Drain

4. Drink

5. Drama
Options:
1) 35421
2) 35412
3) 35214
4) 35241

Correct Answer: 35412

QID : 21 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Price

2, Prize

3. Police

4. Paint
5. Prawn

TeFATEe real T Areeehier & 37Te aTel $haf & AR fored |

1. Price
2. Prize
3. Police
4. Paint
5. Prawn

Options:
1) 45123
2) 45213
3) 43521

4) 43512

Correct Answer: 43512

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AG, FM, KS, PY, ?

Teh 3ieTeha T a1 B, T eH @ T ve ofed €1 faw 1w fashedt & & a8 @E fashed AT, S Jefha O |

AG, FM, KS, PY, ?

Options:

1) RM

2) UE

3) IQ

4) YA

Correct Answer: UE

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ALK, VGF, QBA, ?, GRQ

T 3iefehe T ara B, TEH @ U U ofed 81 faw e faswmedt & & a5 e fashed g, S Jegha S |

ALK, VGF, QBA, ?, GRQ
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Options:
1) KST

2) ARP
3) CXD

4) LWV

Correct Answer: LWV

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

KPD, QVJ, WBP, CHV, ?

T 3iefehe T I B, TEH @ U U ofed 81 faw e faswmedt & & a7 @ fashed g, S Jegha S g |

KPD, QVJ, WBP, CHV, ?
Options:
1) INB

2) GXF
3) ICM
4) 7DQ

Correct Answer: INB

QID : 25 - In the following question, select the missing number from the given alternatives.
3,7,11, 63, 27,215, 2,?
TerAfaee woat & few a1¢ fashed] & & ocd 37 M HfSTT|

3,7,11, 63, 27, 215, 2, ?
Options:

1) 47,513

2) 51,511

3) 51,513

4) 47,511

Correct Answer: 51, 511

QID : 26 - In the following question, select the missing number from the given alternatives.

18, 45, 112.5, 2, 703.125
Prafafld ueat & Rw 1w fasedt & & ocd 3 wd Hfsw

18, 45, 112.5, ?, 703.125
Options:
1) 217.5
2) 262.25
3) 281.25
4) 273.75

Correct Answer: 281.25

QID : 27 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, ?
TerAfaee woat & feT ¢ fashed] & & ocd 3 M1 HfSTT|

30, 68, 130, 222, 350, ?
Options:

1) 504

2) 520

3) 476

4) 448

Correct Answer: 520

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;...

5/1/2018, 8:41 PM



Staff Selection Commision http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 28 - Seg CD is shorter than Seg MN, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the
shortest?

@3 CD @Ws MN ¥ ©leT §, @S MN @3 TR & BeT §, @3S AB @s CD & ©eT & 3R @3 MN @s PQ & ©eT & oW BleT @S i a1 §7?

Options:
1) CD

2) MN
3) PQ
4) AB

Correct Answer: AB

QID: 29 - A is B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

A, B & T & e &r ag 1 7t 81 3R B & ar o1 1S oS AT €, A A, B & v ke Tefaa &2

Options:
1) grand-daughter
qrdr

2) daughter

ser

3) mother

AT

4) sister

Ere

Correct Answer: sister
Ere

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.

RECUPERATE

ArAfTEd fashedl 7 A g Wee; GIAT ST feT 1T 2Usg; o 3TERT T AT ek QT FAT T ST Hehell:
RECUPERATE

Options:

1) acute

2) trace

3) price

4) erupt

Correct Answer: price

QID : 31 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

Ife TUESDAY & His # VWGUFCA for@r ST & af COW &Y 13 #F & ar fordar
Options:

1) EQY
2) XLD
3) BNV
4) DPX

Correct Answer: EQY

QID : 32 - In a certain code language, 2369 means 'master class is fun', 9527 means 'act is class apart' and 1349 means 'we have fun class'. Find the code for 'fun'.

Ty TR s TS 3 2369 T 371 & 'master class is fun', 9527 &7 37T § 'act is class apart' 33 1349 &7 312 § 'we have fun class'| 'fun' & T 5 ATT F|
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Options:
1) 2

Correct Answer: 3

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 33 - In a certain code language, '+' represents '-', '-' represents X', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

16-25x40+60+15="7?

i RRTT s AW A '+, - R USRIa aRar g, ', X B TeRd AT g, X, '+ B Ieiid w1 § 3R L, '+ T UeRId T & AEAfafad uRe & 3caR AT 2

16-25x40 +60 +15=7?
Options:

1) 14

2) 72

3) 55

4) 63

Correct Answer: 55

QID:34-1f72$ 20 =46 and 1 $ 27 = 14 then find the value of 10 $ 44 = ?

I 72$20 =463 1$27 =141 10 $ 44 = ? FT HF AT FL?

Options:

1) 34

2) 54

3) 27

4) 17

Correct Answer: 27

QID: 35-If A $ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what does P # Q $ R * S mean?

AGASBHR ISR HFABFIIL, A#BHFISTEHA BT AS TR ARA*BFITERHA BA AT ATP # Q § R * S o7 o 37 87

Options:

1) Pis father of S

P, S RaTd

2) Pis father's father of S

P, S & Tar &1 Rar &

3) Pis brother of S

P,SHT S

4) PissonofS

P,SHTYTE

Correct Answer: P is brother of S

P,SHT S
QID : 36 -

Select the missing number from the given responses

e o freedt # & o e gy
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Options:
1) 2

2) 11
3) 1
4) 10

Correct Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?
AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
fAfaferd # & FleT AT ug & T G & F9 & IR 82

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA

QID : 38 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns
South and walks another 15 m, then he turns East and walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

QITfRaT HfeT 3 FTH FeT aTelT Teh Safehel T SrelT i 3R 50 HEX SeaR 1 R o S &1 T T5 a8 3R H3H 15 HIST Tefall §1 36 915 I S1810T &1 3R FsH 15
HIeX el &, T a8 25 #ex g T 3R wrefelr & 3R AT STaT0T 1 3R 2o 35 HieT deh Teiel §| 379 g8 3= YR fEufa & g feufa o 2
Options:

1) 10 m West

10 #ex gR=H

2) 10 m East

10 ez qg

3) 40 m East

40 #Hrex g

4) 40 m West

40 #rex 9fves

Correct Answer: 10 m East

10 e qg

QID : 39 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns
West and travels 9 km, then turns to its left and travels 5 km. Where is tank A with respect to tank B?

ar gg et v 81 g & =rofaar urder et §1 & A, 12 fraliediex afaror 1 3R aerar § 3k fR a1 3ik Hget 7 Reeitefie arerar §1 3 B, 7 frelafiet afaror it 3k <refar
2 3R AT fRere 1 3T 3o 9 foraltefiey Trera &, TohT 319l a18 3R 5o 5 faheefiex =refdr &1 & B & daet & & A &gl 82
Options:

1) 16 km West

16 ferelteftey afas

2) 2 km East

Zﬁmﬁ'&ﬁaqﬁ

3) 2 km West

2 fraiHeR aftas

4) 16 km East

IGWETT&’

Correct Answer: 16 km East

16 RroefieT g8
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QID : 40 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cats are dogs

Statement II: Some cats are carnivores

Conclusion I: All dogs are carnivores

Conclusion II: All carnivores are dogs

R 7 &Y U B 7 § Tora@eh 3maY oY [y I 311X 11 fAahrer 3 § | 3T9ehY |11 & o Sl 2T T § I8 98 T AT a3t ¥ @t udia g1 81| 3moenr oy
FAT & AT T 1w fasawst 7§ F wla-ary/Hia-a AiRad &7 F FU g1 TE AT S ahar §/56d §, afe :1S 8

FUA 1: TS oel Fedl 788 &
w9 II: $o oot afamerr §

foread I: e ey e ¥
farssd 11: Tl ARy $ood &
Options:

1) Only conclusion I follows

Fael fAhy [T ¥

2) Only conclusion II follows

Fael faseny [[ 8T §

3) Both conclusions I and II follow

e TSRy 13RI T g

4) Neither conclusion I nor conclusion II follows

AT ar fAshy [ gy & =7 & ARy 11

Correct Answer: Neither conclusion I nor conclusion II follows

AT ar fAshy I gy & &7 & ARy 11

QID : 41 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement II: Some alloy is bronze
Statement III: Some zinc is alloy

Conclusion I: Some zinc is bronze
Conclusion II: Some copper is zinc
Conclusion III: some alloy is copper

e F AT FUT T T § S 3 et sy 1, 11 39 I fAesrer 3 & 3m9eny A § foF it Fua Icg § I8 98 g A1d 92t § @ieet gdia gl &l
et Aot aXeT § 7 fow 1w st 7 & dia-an/Fla-8 ARad §9 @ Fue ganrt € e ST awdr 8/9%d €, IS s En

FY I: F$ dide i AT &
FUA II: & U1 9ol §
FYA I11: $© Sl U1 &

s I: Fo STeT didol §

s 11: Fo JiaT ST ©

s I11: o o1 dieT §

Options:

1) Only conclusions I and II follow
Fae faspy [IR I A &

2) Only conclusions II and III follow
Faer fasay 11 3 111 T &

3) All conclusions I, II and III follow
At forsend 1, 11 3] 11 /v &

4) None of the conclusions follow

et s I, 11 3R 101 Sy AT

Correct Answer: None of the conclusions follow

et s I, 11 3R 101 Sy AT
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QID:42-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frfarRad ST oefer & & i @1 o g o
SITHIT & el T N ST 81 ST Fehell?

<>
0

4
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Correct Answer:

R,
‘%

QID: 43 -
Which of the following answer figure patterns
can be combined to make the question figure?
Frferfaa s smpfer ¥ & @i @ wferdt @t
TS Y TG W ST ST FAE A T §2

Options:

1)

2)

3)

4)

Correct Answer:

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...
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QID: 44 -
In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either
astronauts or swimmers?

FefoTiad fomr g &, e e @i aefdi e &,
gt Rl Y e @vwar 8, g1, wRensl o 3w
ST Rt Pt Hefifer et 2137 @1 BT A1 T

Afema @1 nefifa Fver & 9 ar 9 WAy
g a7 dup E7
D
H
c [EfF
\ A

Options:
1) FHGI
2) DEIA
3) IBFG

4) FHI

Correct Answer: FHI
QID: 45 -

Which of the following Venn diagrams represents the
relationship between Pencils, Pens and Writing
instruments ?

frreafafea § & $1 a1 9Rm oo, 0= ok fora &t
T & fir gay gorfar 82
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Options:
1)

=

2)
3)
4)

©

Correct Answer:

QID: 46 -

Which answer figure will complete the pattern in the
question figure?

fepafeTRiaa 3 & BI-T ITR ATHRT T8 Ipfer & wferey

CARNEiv

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...
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Options:
1)

2)

3)

4)

Correct Answer:

QID:47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 Y SR STt F S SRy B g o my
HTpfer e 21
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Options:
1)

2)

3)

4)

Correct Answer:

QID: 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

% AMpferdl ¥ AT SR HFTST Pl Hrghe I
B PR TAT Bl $ 1S I8 b IR SATPier ST
fearg &2

[ —
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Options:
1)

2)

3)

4)

F

N
D
V4 o N

A
«

Correct Answer:

NI
D q
4 ~ N

QID: 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

I Gep YT T MN T TR 3T 1Y &t & R IR
il § J DIF-AY STpfr UH SATHIT T Fel
mffas grfre

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

5/1/2018, 8:41 PM



Staff Selection Commision

19 of 54

Options:
1)

2)

3)

4)

& & K K

Correct Answer:

%
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QID: 50 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-1l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example 'C' can
be represented by 31, 43 etc and "W can be represented by 76, 89 etc.
Similarly, you have to identify the set for the word 'SODA'

U 9155 eIt e WeT- g FIRT ST T &, T o Rt 3 3 fedt v o
o ey 21 Rrareat  forg o e el & S ot ey suig g €, S
féx 1y &7 3regEt H 81 3ee-| % weA 3 Ul <l Heem 0 & 4 3R ameE-i Y
539 ¥ 27 el F U e b vzel aueh! Ufts st avg ¥ sy dw g
24T ST FePpeT B IEERU & (317 ‘C' Y 31, 43 3N GRY 291747 T Feell & o7

W' I 76, 89 N FRT ST T Fewar &1 gt oRE W eyt wa ¥ By g
“SODA & o e 1 qea T &1

Matrix| AR Matrix || STETE-H

0 1 2 3 4 5 6 | 7 8 9
0 ] G ] A H 5 5 a | ® T X
1 B A D B L & 5 T u o}
2 B D A F L 7 T w | w 5 T
3 L & G B B g q [l T W
4 B K B c B 9 a L I § 5 X

Options:

1) 65,85,21,40
2) 78,87,12,03
3) 55,67,12,33
4) 98,69,22,14

Correct Answer: 78,87,12,03

QID : 51 - By what name is the BRICS bank presently known?

TS S Y AT 7 g S & S ST &7
Options:

1) BRICS Development Bank

oo faera &

2) Afro-Asia Development Bank

3) New Development Bank

g 3T dh

4) No option is correct.

g Tshow ag) 78T &.

Correct Answer: New Development Bank
g 3ToIHT I

QID : 52 - What does parallel economy mean?

HATATR IICTTEAT T FIT AT &2
Options:

1) Black Money

Tl T

2) Parallel Business

HATAGR STIR

3) Illegal Economy

313% 3rdegaEr

4) No option is correct.

1S fashed HEY 7T 8.

Correct Answer: Black Money
RTell T
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QID : 53 - Who implements monetary policy in India?

AR 7 A i Hlet wray e 82
Options:

1) NITI Aayog

e 3mrer

2) RBI

AR Rarg d

3) Ministry of Finance
Taed FaTeT

4) Parliament

par:ry

Correct Answer: RBI

R Rerd &

QID : 54 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC =TaTS 31 Tah T & ARDC 3T 9T &9 & 7

Options:

1) Agricultural Research and Development Corporation

FIY 3gaeT 3R & o

2) Agriculture and River Development Cooperation

FY 3R 71T ahrT wearT

3) Agricultural Reform and Development Cooperation

FIY GuR AR fawra TedeT

4) Agricultural Refinance and Development Corporation

Correct Answer: Agricultural Refinance and Development Corporation

FY geifded 3iR faewrg fFame

QID : 55 - Which of the following is a part of machinery that settles industrial disputes?

FffEd 7 @ Fi a1 7MY &1 v e § s e faaret & AuerT w82

Options:

1) Labour Court

S PIC

2) Industrial Tribunal
et fesgerer

3) Work Committee

F afAfT

4) All options are correct.

o e @ &,

Correct Answer: All options are correct.

o e @Y &,

QID : 56 - In which year Nagaland was created as separate state?

TR TTer ATl Y 376191 TS & T 7 FAIT ITAT 2AT?

Options:
1) 1961

2) 1962
3) 1963

4) 1964

Correct Answer: 1963

http://thepracticetest.in/cs_sscje 18/response questions.php?t_id=M;...

QID : 57 - Which one of the following is responsible for the preparation and presentation of Union Budget?

AT & & et HErT Fote A ARy AR T & fav Srder &2
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Options:

1) Department of Economic Affairs

3 ATl & fasmT

2) Department of Revenue

ToTEq famaT

3) Department of Expenditure

<y fasmer

4) No option is correct.

1S Taehoq TEY T8 &

Correct Answer: Department of Economic Affairs

3w Al & smer

QID : 58 - Who presided over the inaugural meeting of the Constituent Assembly of India?

R T TIAUT THT AT Igell Jah AT 3rezetar ey $r A2
Options:

1) Dr Rajendra Prasad

ERUSEREI 4

2) Dr Sachchidanand Sinha

f afeaemeie fwar

3) B R Ambedkar

& 3R 3z

4) Sardar Patel

TER 9e

Correct Answer: Dr Sachchidanand Sinha

3t wiaeme fweT
QID : 59 - Which of the following was not adopted from the Maurya Dynasty in the emblem of Government of India?

R TR & e 7 Feafafa & & Sl AiaT der & 3raarar #7187 arr ar?
Options:

1) Satyameva Jayate

HIAT STA

2) Bull

b -3

3) Horse

BIE

4) Four Lions

IR W

Correct Answer: Satyameva Jayate

TegAT ST

QID : 60 - The first session of Constituent Assembly of India was held in which of the following cities?

HIRS BT HAETT HHT 7 Tgrell T fAe=fe @ 7 & fha 2R & garm am?
Options:

1) Bombay

EES)

2) Madras

HoH

3) Culcutta

helehedl

4) Delhi

et

Correct Answer: Delhi

feeelr

QID : 61 - Which of the following is the best example of Vijaynagar Art?

Fafaf@d 7 @ i a1 RSTTR Fell 7 TIH 38T 36607 &7
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Options:
1) Ajanta
3Sidr

2) Hampi

i

3) Puri

%

4) Sanchi
T
Correct Answer: Hampi

gFar

QID : 62 - Taxila was capital of which among the 16 Mahajanpadas?

16 HeToleTqal 7 ¥ fraehr ToTerrel daffRrer &i?
Options:

1) Kosala

HrereT

2) Kuru

FE

3) Vaijii

afsat

4) Gandhara

IMUR

Correct Answer: Gandhara

QID : 63 - Who was founder of Mughal Empire in India?

AR & FITS HHATSY T HEATI HieT UT?
Options:

1) Babur

EICEY

2) Humayun

3) Akbar

PR

4) Jahangir

SEEi

Correct Answer: Babur
EIGEY

QID : 64 - Where did Vasco da Gama arrive in India in 1498?

IrEenT T3 IMAT 1498 H ARG # gl 3111 AT?
Options:

1) Madras

Hard

2) Calcutta

helehedl

3) Calicut

Fellhe

4) Bombay

ECS

Correct Answer: Calicut

FTelThe

QID : 65 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

AETIEoTH T G & AR, FrAfaf@a 7 & e fafeer 1 dig far arr ar
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Options:

1) Mysore

BTN

2) Hampi

gFaT

3) Kannur

F

4) Malabar

EIGICIRS

Correct Answer: Malabar

EICICIR

QID : 66 - By what name is the Ganga known in Bangladesh?

STATCRT H I T ATH F4T &2
Options:

1) Padma

=T

2) Ganga

I

3) Damodar

AT

4) Meghna

HET

Correct Answer: Padma
9T

QID : 67 - Which of the following are not kharif crops?

ST  HleT AT TAH BT 78T &7
Options:

1) Maize and Rice

AFH AR TG

2) Arhar and Soyabean

3 3R AT

3) Wheat and Barley

g 3R it

4) Ragi and Groundnut

Tt 3R Fere

Correct Answer: Wheat and Barley

% 3kt

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 68 - How many seismic stations are required to locate the epicentre of an earthquake?

(&Y % e T I ST & ToT fahcter gy TRt T 3rareTena gicl &2

Options:

1) 3

2) 4

3) 5

4) 6

Correct Answer: 3

QID : 69 - Madhya Pradesh shares its border with how many States?

AT U 2T fohcsl T=aT & AT 39T TIAT TS FAT 872

Options:
1) 5

Correct Answer: 5
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QID : 70 - Palghat joins which of the following states?

grerare fAeafafad J & et Tt &t Herar &2
Options:

1) Goa and Maharashtra

e 3T FERTSE

2) Kerala and Karnataka

e 3R FeATeh

3) Tamil Nadu and Kerala

affeaTg 3R 3

4) Mizoram and Manipur

i 3R AT

Correct Answer: Tamil Nadu and Kerala

AT AR e
QID : 71 - Which of the following authorities regulates NPS?

o & I ey & AT FieT Har §?
Options:

1) IRDA

JTSIMRET

2) PFRDA

UFHIRST

3) CAG

alleciy

4) SEBI

e

Correct Answer: PFRDA
HTEHRST

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 72 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

TR TTafohal ol TAFT Tt o AT S8 & Sl AT dhegg IS TIST=T &2

Options:

1) SAKSHAM
[qaTH

2) ABLA
el

3) SABLA
ddell

4) BBBPS
ST
Correct Answer: SABLA
el

QID : 73 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

TrAfaTEd & & el AlTaaT T 3 Aeepicieh fawrd 1 gfafier gt # Sher Aer i enférer f&ham §?

Options:
1) WHO
EC K

kN

2) UNCTAD
FUAHIETEY

3) ADB

RS faerg S
4) UNESCO

FoAER!

Correct Answer: UNESCO
Porsa)

LN

QID : 74 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

AR # fohahe 18 3Tt Selel a1E & FgTvaes & &9 & ford gera v aran 82
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Options:

1) MV Sridhar

THAT AR

2) Saba Karim

|1 FAHA

3) Rahul Johri

g el

4) Anurag Thakur

T TR

Correct Answer: Saba Karim

TET FAH

QID : 75 - FIFA World Cup 2022 will be held in which country?

frer faeg w9 2022 fra ger 7 3mafaa fomar sreen?
Options:

1) Russia

Ex3)

2) Spain

T

3) Ukrain

ksl

4) Qatar

S

Correct Answer: Qatar
HAT

QID : 76 - "The Idea of Justice" is written by

g rsfEar e FIfea” ganT fordy 1% g
Options:

1) Ravindra Singh

aes e

2) Mamta Banerjee

HACT TSt

3) Amartya Sen

IAE BT

4) Abhinav Bindra

3ifdeAa faegr

Correct Answer: Amartya Sen

AT A

QID : 77 - Which author has been made Companion of Honour on December 12, 2017?

RTAFR 12, 2017 FI 7 Geh/ATRHT T FFUTTA 3T 3T AT I &7
Options:

1) J. K. Rowling

. . e

2) Roald Dahl

A37Tes STl

3) Charlotte Bronte

Traife sitee

4) Jane Austen

i 3

Correct Answer: J. K. Rowling

St &, Qfefer

QID : 78 - 315t Surajkund International Crafts Mela has begun at which of the following city?

31-a1 qISTHS IRTET Rieq Aer frfaf@d 7 & o e & IR g3 ar
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Options:

1) Faridabad

RRIGiCICf

2) Jaipur

A

3) New Delhi

3 feeeh

4) Jaisalmer

SRR

Correct Answer: Faridabad

wigETe

QID : 79 - ONGC Videsh has got a two year extension to explore which country's Oil block-128 in the south China sea?

oS facer @ gfaroT e TR 7 T 2T & Jd solleh-128 & THAAY & o &Y av &1 fawar f&er &2
Options:

1) Cambodia

FHESITSAT

2) Vietnam

[ERGoIC)

3) Taiwan

GIEEIGH

4) Philippines

reirdlea

Correct Answer: Vietham

aas

QID : 80 - The 5% India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

5 af ARd-elel T Vo 3eare AT AfFd 20177 9RA & forg U A 3o foman arar ar?
Options:
1) New Delhi
S el
2) Tamil Nadu
=l
3) Maharashtra
HERTSE
4) West Bengal
f¥es semer
Correct Answer: Maharashtra
HERTSE

QID:81-BIOSisa .

I. non-volatile firmware
II. Volatile firmware
III. Software stored on a small memory chip on motherboard

BIOS Ueh gl

I FR-IRGIAT B

IL. 9REGT FHIW

III. AIETS TN U BIE A AANT AT 9= AoFedAR T TIAg0T
Options:

1) Only I

hael I

2) Only II

hael 11

3) Only I and III

hael I T I1I

4) Only II and III

aer 11 qr 111

Correct Answer: Only I and III
Faer [ g 111
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QID : 82 - Which of the following is TRUE?

FAfafed 7 @ Hi ar a7 8?2
Options:

1) Primary memory is non-volatile.
grarffes AART IR-aRade g &1
2) Secondary memory is volatile.
aFrtRr ARy IR e ¥

3) ROM is non-volatile memory.
A -aRad=a g g1

4) RAM is non-volatile memory.
3 IR-aRkade T g &1

Correct Answer: ROM is non-volatile memory.

Qo IA-aRac= T gl 51

QID : 83 - Which of the following metal remains in liquid form at room temperature?

Tt e 3 & et A &7 el a9 W ged &9 H Eehl 87
Options:

1) Cadmium

FHefaze

2) Mercury

IRT

3) Germanium

SRAfTTH

4) Tin

et

Correct Answer: Mercury
q‘RT

QID : 84 - Aqua regia is a mixture of .

31T TTsT (YeFaT YFTT) T FHA0T g &

Options:

1) dilute hydrocloric acid and concentrated nitric acid.

o] BTSZIeFollXeh 3ol AT Hig ATgieeh 3ol

2) dilute sulfuric acid and dilute hydrocloric acidic.

] FoTgReh 3TFc oUT ola] GTSgIeFalliNe 37FeT

3) concentrated sulfuric acid and dilute nitric acid.

TG HeFIRE 305 dAT e A3 3o

4) concentrated hydrocloric acid and concentrated nitric acid.
iz TSR 3 el TAUT Hig ATSTeh et

Correct Answer: concentrated hydrocloric acid and concentrated nitric acid.

T, BTBSFARF 3 TUT Tig ATSTeeh el

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 85 - In a concave mirror if object is placed at centre of curvature, then image will be

TS 37dcIel gUT & ITe T T Tohall dheg I IWA &, ¥ STl aTell FfafeFe gty

Options:

1) virtual

KRR

2) erect

rer

3) diminished

Ber

4) at the centre of curvature

Tehel & dhog X AT

Correct Answer: at the centre of curvature

ohd & theg W AT

QID : 86 - What is the mass of 4 mole of aluminium atoms?

ToGTATATH & WAL & 4 HieT T Ged AT T §2
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Options:

1) 120 grams
120 amH

2) 108 grams
108 I

3) 136 grams
136 A

4) 140 grams
140 ImH

Correct Answer: 108 grams
108 A

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 87 - Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?

Fafaf@a F & 3rfee TIPS A HiT T Fol I A H Teeil 9T Tm=T A1?

Options:
1) Gamma
IMAT

2) Beta
drer

3) Electron

Folerglel

Correct Answer: Alpha
K r2a)

QID : 88 - Which of the following statement(s) is/are TRUE?

I. Fuse is generally placed in series with the device.
II1. Fuse is generally placed in parallel with the device.
III. Fuse wire has high melting point.

RrAfaf@d & ¥ Hie @/d FuT wex &8

1. 9T T WA Jid & 1Y A0ha 7 GAfTd A &
I1. TS &1 WA: JiFd & Y aredshd # G o i ¢
III. 93T AR & Telelieh 3 giel &

Options:

1) OnlyI

Fael I

2) Only II

el 11

3) Only I and III

haer I a2 111

4) Only II and III

el II 27 111

Correct Answer: Only I

el I

QID : 89 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?

S & R &1 Teh ITAATHR S5l ol gaehrg & F goff a1fey ot W 81 586 Heoll # IR faegd any 1 e & o= IReH0T & geard gir §?

Options:

1) Two revolutions

& ot

2) One revolution

et

3) Half revolution

3T o

4) One fourth revolution

T TS goie

Correct Answer: Half revolution

e ot
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QID : 90 - Noise is measured in which unit?

R Y 5T SIS F AT ST 87
Options:

1) Watt

arec

2) Faraday

LS

3) Pascal

IRl

4) Decibel

sHieer

Correct Answer: Decibel

ELIERH

QID : 91 - Which of the following vitamin helps in clotting of blood?

Fafaf@a F @ wia a1 Rafaa od & Thea J GgFar Fdr 87

Options:

1) Vitamin A
faefAe A

2) Vitamin B
eIt @= B

3) Vitamin D
faeIfA= D

4) Vitamin K
ferfda K
Correct Answer: Vitamin K
ferfda K

QID : 92 - During heavy exercise, breathing rate in an average adult person can increase upto

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

per minute.

317 T IR & SR, R 3aa aues fr gaa X gfd [T ae 98 Tehdll ol

Options:

1) 15

2) 20

3) 25

4) 30

Correct Answer: No Correct Answer ( Benefit to all )

QID : 93 - Why is the colour of human blood red?

FATIG I T T oITel FAT g1am g2

Options:

1) Because of myoglobin
AT & HROT

2) Because of haemoglobin

e & FROT

3) Because of immunoglobin

SFGA Ol & HROT

4) Because of heptoglobin

gelTelfa & HRUT

Correct Answer: Because of haemoglobin

QAT & HROT

QID : 94 - Which of the following statement is INCORRECT?

frFafaf@d # & Sl A1 HUT GEY A€ 67
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Options:

1) Oviparous animal does not give birth to young ones.

3sveteh Siq fashfare fI] &l ote s &gl &l |

2) Each sperm is a single cell.

Ycdeh YEHIU] Teh Uehel SITAHT B

3) External fertilisation takes place in frog.

Aok A aEy S g g1

4) Fertilisation is necessary even in asexual reproduction.

3rifaeR STetet 7 o1 fordTet 3maeTs B

Correct Answer: Fertilisation is necessary even in asexual reproduction.

3R STt # 3t AT 3maeT &

QID : 95 - What is the cause of arise of myopia?

e £fSc QY 3cue g1 T AT HRUT &2
Options:

1) Excessive curvature of the eye lens.

T I Fehar F 31 g

2) Eye ball becomes too small.

T 3Tl & BT g1 =T

3) Focal length of the eye lens becomes too long.
ST Y B g T Q|

4) Lack of sleep.

e & AT

Correct Answer: Excessive curvature of the eye lens.

31TAAT H¥ gehar &1 31T gt

QID : 96 - Which of the following multiplies very slowly in comparison to others?

ForfaIfre 3 & o7 gt 1 oret 3 el €Y Iuret sl &2
Options:

1) Bacteria

Shrarey

2) Virus

sy

3) Fungi

hdsh

4) Worms

FHF

c
Correct Answer: Worms

FfH

[

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 97 - The accumulation of non-degradable chemicals progressively at each trophic level is called

I UIfSCHhdl T IR S o glot AT YA T TIT Fgelrar gl
Options:

1) biological magnification

Sifares ghgantor

2) chemical magnification

TErfe gigeor

3) residue magnification

3y gigehoT

4) No option is correct.

S faehed e e B

Correct Answer: biological magnification

Sifare gigertor

QID : 98 - Why Taj Mahal is suffering from "Marble Cancer"?
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Options:

1) Because of sulphur dioxide
ToW STSHTFATSS & HROT

2) Because of nitrogen dioxide
AT STS3HTFATSS F HROT

3) Because of chloroflurocarbon

FARIFARIRISA & HROT

4) Because of carbon dioxide

FTaeT STSIHTFATSS & HROT

Correct Answer: Because of sulphur dioxide
T SSIHTFASS & HROT

QID : 99 - Cancer treatment is done by which of the following noble gas?

FaT F1 399R Arafaf@a # & wia A 31T 3 ganr ferar arar &2
Options:

1) Helium

aferasr

2) Radon

&

3) Krypton

foreeieT

4) Neon

3t

Correct Answer: Radon

&
QID : 100 - How many types of ecological pyramids are present in ecosystem?

qrRTFEAfART a7 # fohctel wehr & aTRTEfaeh Rufas gid 82

Options:
1) Two
ar

2) Three

Four

Five

seqey

Correct Answer: Three

Ef

QID : 101 - Which one of the following brick is suitable for the high-class brick masonry?

Trafafld §c # @ e a1 v 357 Aol & §e Rers & forw 3uged §?
Options:

1) Bull nose bricks

2) Jhumb bricks

S (3179 §¢

3) Modular bricks

ATSTER ¢

4) Under burnt bricks

FH Tl §&

Correct Answer: Modular bricks
Al §E

QID : 102 - Which of the following is the correct reason for soaking the brick in water before its use?

afaf@d 7 @ =i ar $e &t 3u% 39T ¥ gge e 7 RS 7 T FROT §?

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...
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Options:

1) For preventing adsorption of moisture from mortar by bricks
&2t ZanT Tod A 73T & TG Ashet & AT

2) For reducing air void

Ty Rl 1 7 ) 3 e

3) For reducing efflorescence

Schodlel HH P & AT

4) For cleaning

TTH F=t & fow

Correct Answer: For preventing adsorption of moisture from mortar by bricks

$2 GaRT Ged A AT HT G Ut & o

QID : 103 - Which of the following compound affects the ultimate strength of cement?

et & I Fiar a7 i ddie i wa Aafad wF genfad Har §?
Options:

1) Dicalcium silicate

31 e Rfeche

2) Tetracalcium alumino-ferrite
T SRR IR IRTEe

3) Tricalcium aluminate

21§ o H IgfAae

4) Tricalcium silicate

o1 Shfeeraa fafase

Correct Answer: Dicalcium silicate

3 hiovge AfeFe

QID : 104 - Refractory bricks are generally used to resist .

gra s mak w____ iy o & for R e 1
Options:

1) chemical action

TS Rar

2) dampness

oFH

3) high temperature

3T dT9ATT

4) weathering action

Jr9ar foRam

Correct Answer: high temperature
3T dI9ATT

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;...

QID : 105 - Which of the following is the correct percentage of maximum moisture content based in sand where change in volume is maximum?

TATRET &F I i ar 3q 7 oua 3Reras 67 F1 ey ufaera §, STer 3madeT 7 IRade s glar 8?7

Options:

1) 5%

2) 9%

3) 12%

4) 15%

Correct Answer: 5%

QID : 106 - Which one of the following cement is best for the marine works?

vt 3 & loT AT W WY it & o waifeaw 82
Options:

1) Blast furnace slag cement

IcAT-HEY F1am HiHe

2) High alumina cement

3= TegfHeT Hide

3) Low heat Portland cement

& Il diéels dee

4) Rapid hardening cement

ey Fed dFe
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Correct Answer: High alumina cement

3 Teg(H= Hife

QID : 107 - Which of the following is limit of the moisture content that can be achieved in the air drying process of timber?

o051 & & alet T o7t Al i AT § TSRt STenst 1 ATy ANV T Fishar F Ured har ST Hevdl 82

Options:
1) 10%
2) 15%
3) 20%
4) 28%
Correct Answer: 15%

QID : 108 - Which of the following proportion of cement and standard sand is used in cement mortar while testing the compressive and tensile strength of cement?

e 3R Aol I & AT 31T WA Gool H FAT FRAT ST 8, ST I TSt IR dgell dTehel T ILETOT i §?
Options:

1) 122

2) 13

3) 1.4

4) 1:6

Correct Answer: 1:3

QID : 109 - Which of the following is the important factor that affects the shrinkage of cement concrete?

5T & & &leT-|1 Agcaqul w1 § S e Hishie 3 s 1 venfaa aar 82
Options:

1) Quantity of cement

HHe Fr AT

2) Size of coarse aggregates

FeT FHAYT T HHR

3) Size of the fine aggregate

A FHTIT T 3THR

4) Amount of water added during mixing of concrete

A3 & AT & g TATST arely Sr A

Correct Answer: Amount of water added during mixing of concrete

A3 & AT & g TAfST arely Sir AmEr

QID : 110 - Calculate the proportion (in percentage) of fine aggregate in combined aggregate so that the fineness modulus of the combined aggregate becomes
6.4. The fineness modulus of coarse aggregate and fine aggregate in the concrete mix is 7.6 and 2.8 respectively.

EYFT FHTIT H GEHA FHoad & Iuld (FTrd ) Hr a0Tar oY qifeh g FHoaT T GEHAdT AT 6.4 81 SV | hehie 0T 7 Tat Gy iR gea qeeaa &
FEHAT ATIIH FAA: 7.6 AT 2.8 §

Options:
1) 20

2) 33.33
3) 35
4) 66.6

Correct Answer: 33.33

QID : 111 - Which of the following unit is used for estimation of D.P.C. work?

o & & forg sar1S T I219T D.P.C. F & 3Teholel & Torw fRar Sirar &2
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Options:

1) Number

e

2) Cubic meter
el HieT

3) Running meter
Tfefar Hex

4) Square meter

T Hex

Correct Answer: Square meter

T Hex

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;...

QID : 112 - Calculate the quantity of the sand required (in cubic meter) in 20 cubic meters of reinforced cement concrete (1 : 2 : 4).

(1:2:4) yaferd T Fhic & 20 T AT F TS Id T AT (T HieX ) HT 70T HL

Options:
1) 2.87

2) 4.4
3) 5.7

4) 8.8

Correct Answer: 8.8

QID : 113 - Deduction at cross wall for total length of the central line is .

AT Y@ Y Fool oiaTS & AT e fAR Wt ¥

Options:

1) half of thickness of wall.

&R o Aers & 3men

2) no deduction.

g el w7gr

3) thickness of wall

gIaR & Aes

4) twice of the thickness of wall

AR o A T g

Correct Answer: half of thickness of wall.

AR o Aers 1 3mer

QID : 114 - Calculate the quantity of the earth works in cubic meter for a canal embankment of 100 m long having cross section areas at the two sections are 20

square meters and 80 square meters. Use trapezoidal method.

100 #HeX o T g & TIT Gars 1 A0TeAT o1t e & Y [SIGeT Aoy F1e aTathel o Wat 7 20 e #ey 3R 80 a3t #ie &1 FHerwaTHR fafer a1 e ¥

Options:
1) 2000
2) 5000
3) 7000
4) 10000

Correct Answer: 5000

QID : 115 - Accuracy in measurement of the area should be .

ST F AT HF TSI BT ATy
Options:

1) 1 square centimeter

1 397 FEHX

2) 10 square centimeter

10 g e

3) 100 square centimeter

100 @91 HéHRY

4) 1 square meter

1 g A

Correct Answer: 100 square centimeter

100 T3t TR
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QID : 116 - For estimation of painted area of corrugated asbestos cement sheets, percentage increase in area above the painted area is

ATNER TaSFed e ofie & I a7 e & faw, HarT 87 & Fuv a7 7 ufded gy gl

Options:
1) 10%
2) 14%
3) 20%
4) 25%
Correct Answer: 20%

QID : 117 - Which of the following is the purpose of the valuation?

% # @ ST AT Tk HedicheT HT 327 872
Options:

1) Approximate estimation of cost
AT T Y& AT

2) Analysis of rate

X T fagersoT

3) Detailed estimation of cost
ST T FaEel g ATe

4) Taxation

FR-fgRor

Correct Answer: Taxation

F-foreior

QID : 118 - An electric generator is installed in the building at a cost of Rs. 50,000. Calculate the annual sinking fund (Rs.) required to be deposited to accumulate
the whole amount of 5% compound interest. Assume the life of the electric generator as 10 years.

HaeT 3 50,000 T T AR § T [Tl 1 Sifers e fomar aram § | 5% =ehgle sarer oY ot TRRY ST adet o fow Jrmareaes anfier %ot eiveret ey (v v arorer

FY| AT F fSsrel &1 AT 1 Shassrer 10 a¥ g1
Options:
1) 1535
2) 30695
3) 3975

4) 79503

Correct Answer: 3975

QID : 119 - No deduction is made for opening in estimation of masonry work up to,

RIS & 1o & I & Gere 6 T S ekl gt 1 18 B
Options:
1) 1 square centimeter
1 3 Fdeex
2) 10 square centimeter
10 3o e
3) 100 square centimeter
100 g7 HEHR
4) 1000 square centimeter
1000 Tt HEHeX
Correct Answer: 1000 square centimeter

1000 Tt HEHeX

QID : 120 - Calculate the weight (kg) per meter length of 25 mm diameter steel bar place at a spacing of 250 mm center by center for 1 meter.

25 T3 ST SEUTd SR 1 Tt e aTE & aoiet (fohedr) oY aToTAr Y it Sy Ueh #fiex & fore s g@RT 250 it Sy 7 g8 oX T gan &
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Options:
1) 0.96

2) 3.85
3) 7.7

4) 15.43

Correct Answer: 15.43

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 121 - Which one is the upper limit of survey area (square kilometer) for use of plane survey?

Il GIETOT & 3YAT & foIT FFeToT 837 (F97 fpreitefie) ST Foy War i oY 872

Options:
1) 250

2) 300
3) 350

4) 450

Correct Answer: 250

QID : 122 - Which one is the smallest scale?

Pl TIH T BIET ATIH §7?

Options:
1) 1:100

2) 1:500
3) 1:1,000
4) 1:2,500

Correct Answer: 1 : 2,500

QID : 123 - A line of true length 398 m when measured by a chain of 20 m chain is recorded to be 400 m. What is the actual length of the chain (in m)?

TEY FiaTS 398 FHiex I Teh UfFd STa 20 Hiex SIoiR i Teh Solk & AT IT A ITHT o115 400 HieX gl N 713 &1 SR T arediash oars (Fex ) Far 8?2

Options:
1) 19.9

2) 20.1
3) 20.4

4) 215

Correct Answer: 19.9

QID : 124 - Calculate the correction for temperature for a tape of length ‘L', if the increase in temperature is ‘T’ above the standard temperature. The coefficient of

the temperature for tape material is ‘a’.

FFATS 'L T Y & ATIHT & FHT GUR Y 0T Y, 3R AHA F i Hefeh ATIAHT § T FR 81 9 WA &1 ATATT 0Tk 'A' §

Options:

1) aT/L

2) -aT/L

3) +alL

4) -aTL

Correct Answer: + aTL

QID : 125 - What is the correct sequence of the temporary adjustment of level?

R & IEUTS FARIIS T HET IeTshal T 82
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Options:

1) Centering, leveling and setting

FEIHOT, FHAT AN FATISAT

2) Leveling, setting and centering

THRI, AT 3R HoT

3) Setting, centering and leveling

FATANSTA, FErAOT AN FHATAT

4) Setting, leveling and centering

FATIST, FHAAAT 3R o

Correct Answer: Setting, centering and leveling

HATASA, HEIOT HR FHAAT

QID : 126 - The values of whole circle bearing vary from

RITTARTF AT ____ @ Feelcd & |
Options:

1)

0° to 90°

2)
0°to180°

3)
0°to 270°

4)
0° to 360°

Correct Answer:
(° to 360"

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 127 - Which of the following statement is correct for proper adjustment of the theodolite?

AErenge & 3T TArSE & v e & @ Sl a1y T §?
Options:

1) Axis of plate level is perpendicular to the horizontal axis

ToIT o T 38T, &ifdeT 3187 & diead &

2) Line of collimation is perpendicular to the horizontal axis
TEUTRET, &S 3787 & oedd &

3) Line of collimation is parallel to the vertical axis

TR, FEaTeR 3787 & TR &

4) Line of collimation is perpendicular to the vertical axis
HUTAET, FEATER 3787 & ofedd ¢

Correct Answer: Line of collimation is perpendicular to the vertical axis

TR, FEaTeR 3787 & oigad &

QID : 128 - Which of the followings are correct for sensitivity of the bubble tube?

ol TS I HAGALM oI & foT frafaf@a 7 & e wgr 82
Options:

1) Sensitivity decreases with increase in internal radius of the tube
T & 3aRe o # 3 & T HdeaRierdT 4 g1 el

2) Sensitivity decreases with increase in diameter of the tube.

T % O # Y & N HageTMerar HA g A §

3) Sensitivity increases with decrease in length of the tube.

T T TS F T & [T FdgeTRNeraT 96 S §

4) Sensitivity increases with decrease in viscosity of the liquid.

R TerS T AT F FHT F WY GeAMaT 96 A &

Correct Answer: Sensitivity increases with decrease in viscosity of the liquid.

T Y1 Y AT H FHT F AT HagT2 N 9¢ S

QID : 129 - Calculate the curvature correction (in m) if distance between the instrument and staff is 500 m.

Fh GUR (#eT &) T IUTAT X IR SYRIOT 3R FeIh & o T gt 500 Hex &
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Options:
1) 0.0196
2) -0.0196
3) 0.0028
4) -0.0028

Correct Answer: — 0.0196

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 130 - Calculate the volume of the earthwork (in cubic meter) using trapezoidal method if the cross section areas of the three section of embankment at an

interval of 20 m are 40 square meters, 50 square meters and 80 square meters.

FHAEFTHR AT &1 3ULNT 9 Gers Y AT (9T HieT ) &Y 071 Y, 3R 20 HeX & AUl W I HIC & el TS & IR deatial aiathel 40 gof Hiex, 50 adt

#Hrex 31k 80 T9t Aex 1

Options:
1) 1067
2) 1700
3) 2200
4) 3200

Correct Answer: 2200

QID: 131 -The soil transported by the gravitational forces.

T&cATHYUT o GaRT______ TAEY &7 3rvarget gier B
Options:

1) alluvial soil

ECICATHS

2) colluvial soil

el g

3) loess

Forepett ey opdr vy

4) till

feor

Correct Answer: colluvial soil

el RS

QID : 132 - Which of the following is determined with the help of pycnometer?

e & O Fler Rl Hr ggraar @ FuiRa gar &2
Options:

1) Dry density and specific gravity

@ gefed 3R fafIse Tcq

2) Void ratio and dry density

Rt 3171l 3R seh Tefed

3) Water content and specific gravity

Ster qrealt 3R fafse geca

4) Water content and void ratio

St |l 3R Reret 3Ty

Correct Answer: Water content and specific gravity

Ster |l 3R fafdrse apeea

QID : 133 - The cell pressure and pore water pressure is increased from 0.1 N/sq. m to 0.26 N/sg. m and 0.07 N/sq. m to 0.15 N/sq. m respectively in the triaxial

test. The Skempton’s pore pressure parameter is given by .

[T gaTd 3R STel T &7 garg 0.1 TeA / T e F 0. 26 TeT / F97 Hiex 317 0.07 vt / Fo7 #ex F 0.1507 / 97 Hex el I\ qR0eT0T Hae 737 §| TFTHE & STl

T¢I &1 garg aR#AT AR Ruaw § 1

Options:

1) -3

2) -0.5

3) 0.5

4) 2

Correct Answer: 0.5

QID : 134 - Which one of the following shows time factor (approximate), for 50% degree of consolidation?

To05=T & @ T T 50% TSIl FAe o o AT Toh GHY 0T (AT T e@re &2
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Options:

1) 0.2

2) 0.5

3)1

4) 2

Correct Answer: 0.2

QID : 135 - Which one of the following is true about ideal fluid?

7T 7 & T T7 v e 5T F IR F TE&?
Options:

1) It is compressible.

g THRAT &

2) Itis incompressible.

Ig AT &

3) It has high shear force.

SHH 3TT Hcell 9ol &

4) It has high value of viscosity.

SHHA 3TT AT &

Correct Answer: It is incompressible.

REEGEIECE
QID : 136 - The diameter of droplet is 0.075 mm. What is the intensity of the pressure (N/sq. cm) developed in the droplet by surface tension of 0.000075 N/mm?

BIET §g T =ard 0.075 A+ §1 0.000075 T/ THTH T Helg Tord & BIEY §g 7 AR Ad gama (a1 / ot Q) v gererar &=m 82

Options:

1) 0.4

2) 0.6

3) 0.8

4) 1

Correct Answer: 0.4

QID : 137 - A rectangular block of dimensions 2 m x 1 m x 1 m is floating in the water with immersing depth of 0.5 m. What is the weight of block (kN) if unit
weight of water is 10 kN/cubic meter.

ua:mm“mrﬂmzmx1#rx1%%,%@0.5%%*3@@@%?@?%%@#?\1@%mﬁwmw%(mﬁm@)mmm
gfAe aotet 10 fofell 7T / O Hiex &

Options:

1) 5

2) 10

3) 15

4) 20

Correct Answer: 10

QID : 138 - On which principle equation of continuity is based?

TAaRaT @ FHeT fond Rgra 9X 3meanid 87
Options:

1) Conservation of energy

AT T TIETOT

2) Conservation of mass

ST T TIETOT

3) Conservation of momentum

a1fer &1 ReToT

4) All option are correct

s e wey &

Correct Answer: Conservation of mass
SIS T HI&TOT

QID : 139 - If Reynolds numbers are 1000,000, then what is the approximate value of friction for the smooth pipe?

T YeATesd HEATd 1000,000 & & frsrelt ursq & forw eor &1 3regarferd avet & 82

Options:
1) 0.1
2) 0.01
3) 0.001
4) 0.0001
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Correct Answer: 0.01

QID : 140 - Which one of the following is correct for impulse turbine?

7 & I FlT AT UF AT RASA & [T A& 8?

Options:

1) Always operates in submerged condition

ERUT STHIA gleld H ToIdl §

2) Converts pressure head into velocity with the help of vanes
TedT T AGE A a1 83 HT AT 7 95l ST &

3) Operates by initial complete conversion to kinetic energy
Tt Fatt & fore aRfde Qo Faiawor & Farfod giar &

4) Operates by initial complete conversion to potential energy
FRufarer it 3 FIT TR ot FOTaROT & FeTford g &
Correct Answer: Operates by initial complete conversion to kinetic energy

afarst St & o TR ot FaiaRor & Farferd gar &

QID : 141 - When the water drawn from the central hole made in wash hand basin, the type of flow of water is

SIS UTeT &7 € & AT & FT ¢ A AP AT, TN S TEE F IPR gl
Options:

1) forced vortex

Fhm s

2) free vortex

TFT HA

3) tangential flow

E KRG

4) transitional flow

T SaTE

Correct Answer: free vortex
e T

QID : 142 - Which of the following turbine is suitable to generate the power of 10,000 hp, working at the speed of 500 rpm under a head of 81 m?
%< # @ FieT @ @S 10,000 Ty Y ATFT 3cUoat e & TIT IUFF B, 81 HIY & Teh 85 & ara) 500 JRATH Y a1y F 1 &Y WX 872
Options:

1) Propeller

TR

2) Francis

wifad

3) Kaplan

o)

4) Pelton

Jeree

Correct Answer: Francis

iR
QID : 143 - Calculate the specific energy (m-kg/kg) of the flow if the velocity of flow is 2.22 m/s and depth of flow is 1 m.

I waTg 1 497 2.22 HieX / s § 3R varg &1 1e31s 1 Hiex § o e St 6 aomar (v frarm / fmam) & &3

Options:
1) 1.25
2) 2.22
3) 3.22
4) 4.22

Correct Answer: 1.25

QID : 144 - The sphere of diameter 0.02 m is falls in the fluid of kinematic viscosity 10 stokes with the terminal velocity of 0.02 m/s. What is the value of coefficient
of drag on the falling sphere?

0.02 #ieX =g & Firell # 0.02 #Y / TH & Aol 49T & HIY T LA 10 TNFE & g & TR 1 § | TRy Ier oX Wit & [otieh 7 Al T 82

Options:
1) 40
2) 60
3) 80
4) 100
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Correct Answer: 60

QID : 145 - As one moves from head of the canal to the field, the duty of the water .

e & 88 U o AGT o UE Al T A FFT Am A B
Options:

1) decreases

Hear g

2) either increases or decreases
J7 dF ST AT gedr

3) increases

Gl

4) remains constant

Teh HATT

Correct Answer: increases
SGdr

QID : 146 - Which of the following is the correct assumption of the Kennedy’s theory?

e & O Fia § Fad Rgia Hr @y arom 2

Options:

1) Shape of regime channel is semicircular.

TS AT T TR e §|

2) Silt is in suspension due to buoyancy force.

3cCATdsT el & HROT, Y@OF feeasd # gidT g

3) Silt is in suspension due to eddy formed from bottom of channel.

Tl Y FAg W HA 3cUesT gl oh hROT, J@Sg Aciael & g g

4) Silt is in suspension due to eddy formed from wetted perimeter of channel.
Yeter P el TR gt & HROT, @D FreissT 3 g B

Correct Answer: Silt is in suspension due to eddy formed from bottom of channel.

Aol F g W HaR 3cTe Blel o HROT, I@Tog era 7 giar &

QID : 147 - What is the value of the lateral coefficient of the friction as per the IRC?

IMEIRET & AR 90T & IR I[UTeh T AT FT 82
Options:

1) 0.007

2) 0.01

3) 0.15

4) 03

Correct Answer: 0.15

QID : 148 - Calculate the safe stopping sight distance (in m) for the descending gradient of 3% for a design speed of 80 km/h. Take coefficient of friction as 0.35
and total reaction time as 2 seconds.

80 farelt/eruer & veh f3strgt &1 a1fey o fAw 3% & 3rael arel & forw RFEra e Tfie g (Hiex #) & 10r=lr Y| &dor & olieh &1 AT 0.35 R St Gffohar @og 2
[ehs AT |

Options:

1) 110.82

2) 123.26

3) 1018.41

4) 1092

Correct Answer: 123.26

QID : 149 - Which of the following is the minimum limit (ppm) of the dissolved oxygen that must be in the water for survival of aquatic life?

Prfaf@d 7 8 Fia @ faaiea ifedierT H =geras G (T § S solr shaet & 31dca & e ste 3 gier anfge?
Options:

1)1

2) 4

3) 10

4) 40

Correct Answer: 4
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QID : 150 - A stream has flow of 20 cumecs and BOD concentration of 10 mg/I receives the industrial waste water having flow of 1.5 cumecs and BOD
concentration of 250 mg/I. What is the BOD concentration (mg/l) of stream at downstream point of meeting of stream with industrial waste?

Teh 4RT T 9416 20 FgAFH A3 § 5 10 fAefiamer / e &y 13 vamarar & @y 3ieaférs wed &7 arell 1.5 FgAed & yarg AR 250 el / ver & SIS vhmaran
Y Teel AT &1 3N Fer & a1y ary A ol & 3egyare g oX R Y NN venrarer (FAehams / el ) #7182

Options:

1) 2.67

2) 12.09

3) 13

4) 26.74

Correct Answer: 26.74

QID : 151 - A riveted joint may experience

o Rae R 5T it Y swa 3igerd 8 ahaT §
Options:

1) shear failure

FALA Tawerar

2) shear failure of plates

Colel ST el fatheldr

3) bearing failure

foafier fawerar

4) All option are correct

a3t o wer §

Correct Answer: All option are correct

a3t o wer §

QID : 152 - If p and d are pitch and gross diameter of rivets, the efficiency (n) of the riveted joint is given by

mp3ﬁTdﬁaﬁﬁﬁwwwm&mﬁatﬁra?aﬁgﬁam(n)aﬁmaﬁmﬁmm%

Options:

1) n=p/(p-d)

2) n = p/(p+d)

3) n=(p-d)/p

4) n = (p+d)/p

Correct Answer: n= (p-d)/p

QID : 153 - If the moment of inertia of a section about its axis is | and its effective sectional area is A, its radius of gyration r about the axis is

3R SHAT U & qR A T TS T SARIAT &7 &707 | § 3R 30 Jerely 3regormelar a1 A €, ot 3787 o AR o ameeret o s r ghefr

Options:
1) r=1I/A

2) r=V(I/A)
3) r=v(A/I)

4) None of these
ST A I AR

Correct Answer: r = V(I/A)

QID : 154 - Allowable working stress corresponding to the slenderness ratio of double angles placed back to back and connected to one side of a gusset plate is

reduced to

FIhTd HTHHTS TATT ST ETEX IO & e GedleT AT & 6T §, Teheh I Ueh TN §S & T 3R Ueh IRIE Sele & O &0 & Sf21 g & o 9 3 T o =

AT

Options:
1) 50%
2) 60%
3) 70%
4) 80%
Correct Answer: 80%

QID : 155 - According to I.S. : 800 — 1871, lacing bars resist transverse shear equal to

3TETH : 800 - 1871% AR , AT Tl FATLe o helkall hr faver EREREZGIE
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Options:

1) 1.0 % of the axial load
3787 HR T 1.0%

2) 2.0 % of the axial load
3787 9T &M 2.0 %

3) 2.5 % of the axial load
378N HR &1 2.5 %

4) 3.0 % of the axial load
3787 (X &1 3.0 %
Correct Answer: 2.5 % of the axial load
3787 (X &1 2.5 %

QID : 156 - Pick up the correct statement from the following

o 7 & FEY U a0

Options:

1) Loaded columns are supported on column bases

dIs T 37T 87, T9T YR 9T 3T 81d &

2) Column bases transmit the column load to the concrete foundation
HicTH & IR TIH NS A B g TR GRS F &

3) Column load is spread over a large area on concrete

FIH AR FohIc W T 93 417 H har giar g

4) All option are correct

T e wel &

Correct Answer: All option are correct

T e wel &

QID : 157 - In the composition of good bricks, the total content of silt and clay, by weight, should not be less than:-

3reeY $f 1 FTEe & AT, e 3R ALY &1 For Hdere, ¥R &,

Options:
1) 20%
2) 30%
3) 50%
4) 75%
Correct Answer: 50%

QA HH ALY T TR |

QID : 158 - In factory buildings, the horizontal beams spanning between the wall columns supporting a wall covering are called

FRET FH SARGT H, Teh SR T HaRaT o TERT &1 Tl S1aR Tt & T ther &ifast i &1 Far Sar g
Options:

1) stringers

2) trimmers

e

3) girts

Rt

4) lintels

oeced

Correct Answer: girts

frca

QID : 159 - The average shear stress (in kg/ cm?) for rolled beam section, is

Ues d1F T & fow e Fate aona (f6. am/ae?) A giar &

Options:
1) 845
2) 945
3) 1025
4) 1500

Correct Answer: 945

QID : 160 - Web crippling generally occurs at the point where

a9 fEpufeiar et W 39 fdg o giar & Stel
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Options:

1) bending moment is maximum

el T &T0T JHfeIhersl &

2) shearing force is minimum

T gt FeTaH §

3) concentrated loads act

Figa ais sfRfags

4) deflection is maximum
[EGEEEIECTE

Correct Answer: concentrated loads act

g ars sl

QID : 161 - The strength and quality of concrete, depends upon:

shie S dTehel 3 T[0T, 36 W AR el 8
Options:

1) grading of aggregates

T &1 AfsT

2) surface area of aggregates

THTE HT TIg &TTBe

3) shape of aggregates

HHTIT FM AR

4) All option are correct

Tt AreT T &

Correct Answer: All option are correct

T e wel &

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 162 - The process of adding water to lime to convert it into a hydrated lime is termed as:-

ot 7 uTelt B AR 39 g1532s g & uRafcla et v ufskar FEA & |

Options:

1) watering

arefiar

2) baking

SfhaT

3) hydration

FTSZRIA

4) slaking

T

Correct Answer: slaking

TolfehaT

QID : 163 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the aggregates will be known as elongated

aggregate if its length is not less than

3R G Qi avE A 75 AT &1 SR B Selelt & ToRaT § 3R 60 THAT ITRR A Sefell W FATT @1 STl &l Foead 1 el FARRd & &9 & S Sream, afg

ST FHETS SAH FA oT6T gl &
Options:

1) 81.5mm
2) 91.5mm
3) 101.5mm

4) 121.5 mm

Correct Answer: 121.5 mm

QID : 164 - The calcination of pure lime result in:-

UE I & fAeeuiet (feasier) @ aRoms -
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Options:

1) quick lime
AR/ 3T Tl
2) hydraulic lime
grsfereh e

3) hydrated lime
Fregfes T

4) fatlime

T Al

Correct Answer: quick lime
R 3T I

QID : 165 - Pick up the correct statement from the following

5T 3 & W8 FUA gerd
Options:

1) Anincrease in water content must be accompanied by an increase in cement content

Stet FrHA 7 i Wi qreelt 7 gfe & ary gl =

2) Angular and rough aggregates reduce the workability of the concrete
0N 3R A FHTEE, Fhohlc o HIHBIST I HA HIA &

3) Large size aggregates increase the workability due to lesser surface area
FH JTHR & STl & FNOT T3 N & FHoad FIHGST 7 g FLl &

4) All option are correct

oo faweT Tér &

Correct Answer: All option are correct

T e wer &

QID : 166 - According to 1.S. 456, the number of grades of standard concrete mixes are

HTETH : 456, 3 ITAN S (Fh1C) T & a5 1 Fear
Options:

1) 3

2) 5

3) 6

4) 7

Correct Answer: 7

QID : 167 - Curing a concrete for long period ensures better

S T o shehlie Y FYRET HA W T8 Gl Sgek Ak & FioARed grelr &
Options:

1) volume stability

AT Rear

2) strength

afed

3) water resistance

Stet gferrer

4) All option are correct

wf RaereT wer &

Correct Answer: All option are correct

T e wer 8

QID : 168 - The main object of compaction of concrete is

1T & TS T AET 3T T

Options:

1) to eliminate air holes

&1 B T TcH A & [T

2) to achieve maximum density

31TFdA gelca Ured e & foT

3) to provide intimate contact between the concrete and embedded materials
Fehie 3R TS ATl & ST 3AeT HUE UGl el & forw

4) All option are correct

Hof e wer &
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Correct Answer: All option are correct

T FaeheT WEr &

QID : 169 - Construction joints are provided

Options:

1) where B.M and S.F are small

18T BM 3R SF o §

2) where the member is supported by other member
STET HeEd gEY Hekd &any FAT ¥

3) at 18 m apart in huge structures

TareITer HTAAT3T & 3refar 18 Hiex T gl |

4) All option are correct

T e wer &

Correct Answer: All option are correct

T AT TEr &

QID : 170 - Pick up the correct statement from the following

T & T 98 FUT Fd10
Options:

1) Construction joints are necessarily planned for their locations
AT St T 377k TUTAT & forw SR At W SR o Srar &

2) Expansion joints are provided to accommodate thermal expansion
Uil FAEAR 1 TARNTST Fa & T Redr Sis vere fear sirar &
3) Construction joints are provided to control shrinkage cracks

Tagsat arel IRT A G T et & fore FaTor Sy suerstr aRw o §

4) All option are correct

T e TEr €

Correct Answer: All option are correct
T oo TEr &

QID : 171 - Grading of sand causes great variation in

3T & AfFer sEHA S ST FRTTAT T HROT AT &
Options:

1) workability of concrete

FHShIC & HIHBTST

2) strength of concrete

FhIC I dlehcl

3) durability of concrete

FhIT T T

4) All option are correct

a5 o wer &

Correct Answer: All option are correct

a5 RaoT wer &

QID : 172 - The light weight aggregates are obtained from

FH FoIeAT FHTAT Y e AT ST §
Options:

1) sedimentary rocks
LEEUGHE)

2) metamorphic rocks
AerAR T Tget

3) igneous rocks

SIeE Uod

4) volcanic source

ST e

Correct Answer: volcanic source

ST e
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QID : 173 - The bulk density of aggregates depends upon its

FHTIY I Al eled 586 W R T ¢
Options:

1) shape

K Icacy

2) grading

Afar

3) compaction

YT

4) All option are correct

T3t TAheT TET &

Correct Answer: All option are correct
Tt [AheT TET &

QID : 174 - Batching error means inaccuracy in the quantity of

AffaT R T FHcTora § SHRT AT H Y
Options:

1) aggregates

Sk

2) cement

e

3) water

Eici

4) All option are correct

a5 o wer &

Correct Answer: All option are correct

a5 RaoT wer &

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 175 - The center needle of the attachment of the Vicat plunger projects the circular cutting edge by

TR TSR % JHefolaeieh she 1 FS ST GaNT Jocld Hers TsT i GeTell &

Options:
1) 0.2 mm

2) 0.5mm
3) 1mm

4) 5mm

Correct Answer: 0.5 mm

QID : 176 - The flakiness index of aggregates is the percentage by weight of particles in it whose thickness is less than

FHTIY &1 JoId Fehich 39 HUI & dofel T Tiird g, il Aers

Options:

1) 2/5th of mean length

Jiraa wfers @1 2/5

2) 3/5th of mean length

3T weTs @ 3/5th

3) 4/5th of mean length

3iraa wieTs & 4/5

4) None of these

ST U IS 6T

Correct Answer: 3/5th of mean length

3 oS @ 3/5th

THAEI

QID : 177 - The field test for the quality of cement consists in putting a small quantity of cement in a bucket containing water. A good quality cement will:

e &Y IUTaed & ToIT hies ere 7 9Tl T Ueh STecl & HIHe ST TS AT STl 87 gl &1 Teh 3res JuTdea drel Haie:
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Options:

1) immediately dissolve in the water
T AT o ST &

2) float on the water surface

Tt T Tdg W FAle Y

3) sink to the bottom of the bucket
FTEET & dTel 3 39 STl &

4) produce the steam

Y T I FIAT §

Correct Answer: sink to the bottom of the bucket
e & AT 7 9 ST

QID : 178 - For the repair of roads

HSHT I FFAD & foIw

Options:

1) low-heat cement is used

FH AT HIHT T SEAATA [hT ST &

2) rapid-hardening cement is used

ST & HEd et aTell HIHT T FETATS TRl ST &
3) high-alumina cement is used

3TT-HeG[HAT WA T 39T T ST §

4) sulphate-resisting cement is used

Tothe- TRt defe T sTaATer T ST &
Correct Answer: rapid-hardening cement is used

ol ¥ TE& 8let aTell T T STAATSH fhaT AT &

QID : 179 - The advantage of reinforced concrete, is due to

vaford Shshic & oI SHh HROT BTl &
Options:

1) monolithic character

3@s InT

2) fire-resisting and durability

3mmer gferrer 3R wenfRea

3) economy because of less maintenance cost
FH TR AT & HROT FFcTaTdT
4) All option are correct

oot RAreT TET &

Correct Answer: All option are correct
oot RAreT TET &

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 180 - By over-reinforcing a beam, the moment of resistance can be increased not more than

T A T HAGT He W, TR T 4707 SHY SATST 761 &1 Hehell &

Options:
1) 10%
2) 15%
3) 20%
4) 25%
Correct Answer: 25%

QID : 181 - Spacing of stirrups in a rectangular beam, is

T ITATHR S 7 T T e, 75 gl &
Options:

1) kept constant throughout the length

o e # R e &

2) decreased towards the center of the beam
&1 & g T AR FIA T &

3) increased at the ends

BN W FGler

4) increased at the center of the beam

17 & g H oA &
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Correct Answer: increased at the center of the beam
A S hg A I g

QID : 182 - The radius of a bar bend to form a hook should not be less than

Wgﬁmﬁ%%@mﬁﬂﬁﬁgﬁ%ﬁmmﬁwwﬁwaﬁaﬁu
Options:

1) twice the diameter

ST T G

2) thrice the diameter

ST T e I

3) four times the diameter

SITH T IR AT

4) five times the diameter

ST T 97 T[T

Correct Answer: four times the diameter
SITH M IR AT

QID : 183 - Steel bars are generally connected together to get greater length than the standard length by providing

SET ST TG I AN T T WY ASH AT TS T Jotall 7 HUhclt Sfars et sree ¢ 31 81 &

Options:
1) straight bar splice

el gt oIS

2) hooked splice

s T

3) dowel splice

A TS

4) All option are correct

T oo TEr §

Correct Answer: All option are correct
T oo TEr §

QID : 184 - The diameter of longitudinal bars of a column should never be less than

E & ST FoATEl & ATH Y SHA HH FIl TG gl AT

Options:
1) 6 mm

2) 8 mm
3) 10 mm

4) 12 mm

Correct Answer: 12 mm

QID : 185 - The maximum ratio of span to depth of a slab simply supported and spanning in two directions is

T T JTRAH He]UTcT I T TGS A S b heer & Temait & gafdd 3R wer g @, a8 &

Options:

1) 25

2) 30

3) 35

4) 40

Correct Answer: 35

QID : 186 - For a continuous slab supported at ends and carried over intermediate beams

T R Tole & forw &Y i R W @7fdq g 31k #Avgadf et W) o smr = g
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Options:

1) Max. sagging B.M. for the end spans = + (wl2)/10

31f8reraa AT BM 3id T & fow = + (wi2) / 10

2) Max. hogging B.M. over penultimate supports is equal to - (wl2)/10
31Ras e fI.uA. IWIT THIT F FR - (Wl2) / 10 F R

3) Max. sagging B.M. for the interior spans = + (wl2)/12

31f0eRas AT BM AR =7 & fow= + (wi?) / 12

4) All option are correct

w3h Raeow wdY &

Correct Answer: All option are correct

a5 o wer &

QID : 187 - The advantage of a concrete pile over a timber pile is

THI F I(UTSA) TR Teh ST X T TG oITeT BT &
Options:

1) no decay due to termites

&He & HRUT HIS &7 78T

2) no restriction on length

TS W IS Yl g

3) higher bearing capacity

3T AT &THAT

4) All option are correct

a3t o wer §

Correct Answer: All option are correct

a3t o wer §

QID : 188 - A raft foundation is provided if its area exceeds the plan area of the building by.

Ueh 93T Hid YT fhar SIrar & I 3T 819%d, SAR & HAfeid &9%d & 588 31/ 8T 81
Options:

1) 10%

2) 20%

3) 30%

4) 50%

Correct Answer: 50%

QID : 189 - The forces in the members of simple trusses may be analysed by

HIYIROT T & HEGEAT 7 Fell T [A20T 388 R ST Gl &
Options:

1) graphical method

e At

2) method of joints

Sirst #r fafer

3) method of sections

Fefemait <y fafer

4) All option are correct

a5 o wer &

Correct Answer: All option are correct

a3t o wer §

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;...

QID : 190 - A rolled steel joist is simply supported at its end and carries a uniformly distributed load which causes a maximum deflection of 10 mm and slope at the

ends of 0.002 radian. The length of the joist will be

Teh Ues TEIeT SSEC Hl TP BR W TERT T ¢ 3R Tk TAT T A fIaRa 7R orar § S rRor 10 &Y &7 31f8eder f[38iast 3R 0.002 IEae T 8RR 4R gl giar

& SiigEe &I ders grefr
Options:
1) 10 m

2) 12m
3) 14m

4) 16m
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Correct Answer: 16 m

QID : 191 - A lift of weight W is lifted by a rope with an acceleration f. If the area of cross-section of the rope is A, the stress in the rope is

TSIl W I Teh Toitre Ueh 8T o TTY Teh ca’oT f o AT 3STAT ST § | 3R IEHT & iF-TaI T 81T A §, dl IEAT T a1 g
Options:

1) W (1+f/g)/A

2) (1-g/f)/A

3) W (2+f/g)/A

4) W (2+g/f)/A

Correct Answer: W (1+f/g)/A

QID : 192 - A material which obeys Hooke's law is subjected to direct stress g0. At its elastic limit, which of the following statements is true?

U A S §h & TAIH T qelef FIN &, T WY oA 00 & 37eNeT g1 1 3=l Senfees Mar ), o=t & & et A7 HoreT T §?
Options:

1) Strain is equal to o0/E

TG 00 / E & SRIeR &

2) Maximum shear stress = 60/2

HUFIHA FeAT gl = 00 / 2

3) Strain energy = (00%/2E) x volume

TG Fell = (002 / 2E) x AT

4) All option are correct

T e wer &

Correct Answer: All option are correct

T e wer &

QID : 193 - Keeping the depth d constant, the width of a cantilever of length | of uniform strength loaded with a uniformly distributed load w varies from zero at the
free end and

TMES d T T WA & AT, | s & FENaT i s o & T T F AART IR w F AT As A a1$ § a5 I @ AT Sl  AFA SR R AR s W
Options:

1) (2w/od?) * |2 at the fixed end

(2w/od?) * |2 fRad 3ia &

2) (3w/od?) * 12 at the fixed end

(Bw/od?) * |2 AfRad 3ia &

3) (3w/ad) * 12 at the fixed end

(3w/ad) * 12 AfRaa 3ig &

4) (5w/ad) * 12 at the fixed end

(5w/od) * 12 e 3id &

Correct Answer: (3w/od?) * 12 at the fixed end
(3w/od?) * |2 faf¥ad 3ia &

QID: 194 -

The force in EC of the truss shown in the figure
below is

I fGEnu e d SeEec G d W plAa ad
g

5t
5 D E F
A
c B

52 of 54 5/1/2018, 8:41 PM



Staff Selection Commision

53 of 54

Options:

1) zero

T

2) 5t tension

S5t d1 T

3) 5t compression
5t HfrgeT

4) 4t tension

4t deta

Correct Answer: zero
L

QID: 195 -

In the cable shown in the figure below, the minimum
tension occurs at

R i o R dea d Ao T o w g g

Options:
1) A

2) B
3) C

4) Between A and C
AdRCHF ST

Correct Answer: C

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 196 - A shaft is subjected to a bending moment M and a torque T simultaneously. The ratio of the maximum bending stress to maximum shear stress

developed in the shaft is

T QFE F[hTa &T0T M 3R Ta &idh T TR ook |1y 31T §| e & fasnfid siftisrasr sroett defta & forw iftiendsr sjenra defra &l 3171l &

Options:

1) M/T

2) T/M

3) 2M/T

4) 2T/M

Correct Answer: 2M/T

QID : 197 - The shape factor of standard rolled beam section varies from

T TGhT A T3 &1 IR PN SH Bt F1elT &
Options:

1) 1.10to 1.20

1.10 ¥ 1.20

2) 1.20 to 1.30

1.20 ¥ 1.30

3) 1.30to 1.40

1.30 ¥ 1.40

4) 1.40to 1.50

1.40 & 1.50

Correct Answer: 1.10 to 1.20
1.10 ¥ 1.20

QID : 198 - In plastic analysis, the shape factor for a triangular section is

TelTiEes faRevor &, vl @3 & foT 3MeR #1 R &
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Options:
1) 1.5

2) 1.34
3) 2.34
4) 25

Correct Answer: 2.34

http://thepracticetest.in/cs_sscje 18/response_questions.php?t_id=M;j...

QID : 199 - Shear center of a half circular section of radius r and of constant thickness, lies at a distance of x from the center, where x is

TS 1 & 31 o AT BT heRel her AR TAleR Alers & , g & x
Options:

1) r/n

2) 2r/n

3) 3r/n

4) 4r/n

Correct Answer: 4r/n

QID : 200 - A three-hinged arch is generally hinged at its supports and

T - arelr 3T AR W) 38 TeR W 3N 59 W et rargrar g
Options:

1) at one quarter span

e TS rafe &

2) at the crown

AP T

3) anywhere in the rib

Re & gt ofr

4) None of these

TR A S G

Correct Answer: at the crown
W T
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